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1) Fred's Car Rental charges $50 for a car plus $2 per kilometer.

» ————
Cons¥an
a) Write a relation for th@of renting a car, in dollars, for n

kilometers = Qmewnt kon

Cost = odn +90

b) Complete a chart to relate Kilometer to total cost.
Kilometerq | 1 2 3 4 o 6
2

Cost 8 [952|sM]| 5L [958 |to|e2
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1. Each table shows the input and output from a machine with

one operation. For each table:
Identify the number and the operation in the machine.
Continue the patterns.

a)

n

Write the next 4 input and output numbers.

Write the pattern rule that relates the input to the output.

Input

Output

7

14

21

28

39

942

S
&
-

49

<

56

b)

October 23, 2023
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Input Output
50 a9 -
49 38 |n l l
48 37
47 36
4o | 35
4s 39

Hy

33

$3
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34. Each table shows the input and output from a machine with two operations.
Find the pattern rule that relates the input to the output.

Use the pattern rule to find the missing numbers in the table.
Use the patterns in the columns to check your answers.
Predict the output when the input is 40. Check your prediction.

a)

Input Output
5 21
6 24
7 27
F 3 30
9 33
10 36

b\

N Input

J/
Dutw

0

/

N

J/ 2

10

¢ 3

N

?

N 4

AN

»
/25

~
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-.r.f.f'.-:-_] q Input Output
.
LN 1 6 D
& \Write a pattern rule that relates the input to 2 8 o
the output. 3 10 ‘(
Predict the output when the input is 9. 4 10 o

Extend your pictures to check.
@ Which input has an output of 28?7 ( 2 s
) Describe the strategy you used to find out. a) A + L(
) N=9 S 28=2n+\ Check
%) & nzi =out= 6

2n+Yq  2g= vy
ﬁ
20y Ay n, &
g +'1 n:=\2 Y

Input Output
1
13
2 10 a_
3 16 >
4 22
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L 7 & g

« I} For each numbser pattern, how (s each term related to the terrm number? Homework
i Let n represent any berrn numbar. Wite a relation for the term, : Solutions
b Ferm Humber LU - S I T I T I T
Tem : | o4 | s | 8 | w |
B Term Numbar | 2 | x| & | s | e
Tems 3 | 4 | 3 | f | 1 | &
£ Term Mumber 1| | = | &« | 5 | =
Ters B | 6 | | ;| & | 4
d)  Term Number 1| | 2 | ¢ | 5 | &
| | | | |

A term s dhuble He term nuter
%ermz.?r\‘ or LN .

b) ﬂ\c +erm 112 addd-Ure nl’ﬁ;'&:
Term =
) The -Lc,rrr\r'\\g J‘:’( £imes the b:fmu_

Term = 3n o TEN

NThe term 16 5 wore than the tem

Term= h+8 o G4n "
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2. There are p students in a class, Write a relation far each statement Homework
aj the watal number of pencils, if each student has thrae pancils
b} the total number of desks, if there are two mone desks than students
€] the tatal number of geoboards, if rach pair of students shares one geoboand

d) the tatal number of stickers, if each student gets four stickers and there are ten
stickers left over

. Solutions

MESehet [ 1 | 2] 2| ¥ |y
3§ sbikes [ )4 [ 18] 22 | 2¢ [ndt it

IN4HD Y+ o
AT L
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4. a) 'Write a relation for the perimeter of 2 squans
wilh 510e |El'l-:_',l'l|'l N cankireires,
Bi ‘What is the perimeter of a squane with ] [ "
shde length 12 cn?
¢} Suggest a situation that could be represented
by each refation.
i} 3sisrelatedtos i) Brisrelatedtot

o Pe,r}me&( = f)+h+ n-l-n
or Hn

b) Lh\‘ n =12

H xi2
4%

&) Pertmeder of %WTPME&
?Gl' \ OS R-gl»kr Od‘cgm

with cach cde bel\ﬁ
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Section 1.4

For each number pattern, how is each term related to the term number

ut!
a) Term number“ 1 2 3 4 51.1n
r
Term , owd v 10 15 1 20 | 25]...

ucs T c,hec.\c n:l ouit= S
b) | Term number m 2 4 5 .| n

Term @j 13| 17| 21 25...@_

k}\{ gj‘-ln Check Qi-,n\\ owk =
we) ‘ll(‘\)A:ls
c)|Term number {1; 2 3 4 5(.]n |
Term \oJ| 12| 17 [ 22 | 27]. |(Gax2
(g
}{5 Chee
N Sn Nel butl]
Sn
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S
1) Karen wants to attend a fair. The cost
enter the fair ground ii ?10 if. While at the
fair the tickets for the rides cost{$2 each.
dn + 1o
a) In a chart show how the total cost is related to the number of rides.
Cost V214 |1e [t§] ] 2nro
Nz O \] \} Ne 2
1\ Az \ -
z@w. "‘z‘?"’?' - vl 0
b) How much is the fair if s‘hoe'g‘]%es on ides? )
C-Zn"'lﬁ T3 wil g
L $ 560 +¢ ao
( )-l' 1o on 2 3
Yo 4+ 10 — SQ W 20 rides

c) Suppose the cost of the entrance fee doubles. Write a relation for
the total cost of the fair for n number of rides.

C=2Zn 3
r.dg.s 5‘-‘

fam’
‘\'eleu\ok entrgnc
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:C&IJM \,,S"‘C"%és
; 7
- Q"ba“ac—,d,e)

Page >4 #6(a,b,c,d,e),
QB) #7(a,b,c.d,e),
$ #9(a,b,c both i & ii)
52 Q q PCP PerSov,
each

Gy $= S % P< lo Gpa2o

9(p) + 20
Qp + 29 5
65) +26 "“t)’-”
Y< 420
ts

C) C‘P ¥ 29 d) &5 +\é§mﬂ.‘ ;
L~ vaz:\pslk &od

food \t
«l{;\:\e doulle
U% e 1 ZEJ @

e) Use ¢ becaus e ?ﬂ.o‘,\c Stacts 3‘.‘\1\":
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